JOINT LINE

BED  LEVEL

JOINTY LINE

UPSTREAM ELEVATIONS OF EXISTING

MUARERA T ecelNmY @i INE

REPAIRS TO MILLERS FLAT

D)

BRIDGE

ek

JOINT LINE

ey ANy

S

ELEVATIONS OF
Bs AT o5 09 [ £33

S @ AT

Mt SIS o et oy

/'/

.'\\(\

-

A

K/

/
/
/

v Al

SECTION B-B

JOINT LINE

DOWNSTREAM ELEVATIONS . OF EXISTING

»l[u'nil||'1|mv|v|nn|||||||_“|i’i‘|||ﬁ‘iﬁgjjiln|nu|||_|||||||||1uIm||u||Ii;‘u|u||||_uj|p|_u|m|||mluu||n||m||u|||||;|||1||||||||||||| e
0. 190 poo 220 230 240 ¢ 250 280 ' 270 280 280 300

7 ;f'—,'-__[llll||||4|‘IIl||||l_|II!III|H|I|IIll|IIIIIllllllfﬁilllllllll|l|l||llll|||_|'||I[IIIHI|||IIIIll_lI||IIII||||III|lII||I]IIUI‘IIII]II'HIIIH—I'I |
0. 20 30 a0 sa eo.. 70 B0 B0 100 ‘0 "‘_d'l.'m‘

1:1 a




STEEL PLATE CASINGS

WATER LEVEL j

FLOW |>

@_

REMOVE ALL LOOSE GRAVEL

AND MATERIAL FROM SCOUR HOLES .

EXCAVATE COLLAR 50O mm INTO
EXISTING BED OR 300 ww MIN
BELOW HoLE

ORIGINAL PIER EMBEDMENT
ASSUMED TO BE GOO mm

Al

UPSTREAM PIER

ELEVATION OF PIERS

DOWNSTREAM PIER

lllll]IIIIIIlll|lIII|III||I||l|||I||.||||l|l|||||l||||||||I|||||||IIII|IIII|HII|I|||[II|I|I|II|IIII|III||IIII‘IIII|IIII|II||||||||||||||||||||u|1m|llll|I|||||III|IIII|III|||||||I||||m|||||1|||||||m|||n|1||||m|||n||IIIIIII||||||||l||l|l||||||||||||||l||||||||||ll|||l||||l|||||||||l|||l|ll|
100 17 200

GRIND PIER To PARENT
METAL (REMOVE

SURFACE SLAG) AND
APPLY 450 mm OF Bmm
FILLET WELD JOINING

SILICONE SEALANT

SURFACE COATING

5 mm EXPOCRETE UA

PILE T

o PIER ON BOTH SIDES
CASING

D20 BARS
" AT GO0 CRS

D28 BARS
AT 150 CRS

MIN EMBEDMENT 300 mm

MIN NET SET : e
33 BLOWS / 100 mm } b L / ”

ey s,

’

(
o

126 %\2 PLATE
WELOED To BASE
OF PILE

DETAIL BOTTOM OF PILE

EXISTING (830 ¢ PIERS

|
10 -~ 200 U 25 COLUMNL
AGAINST PIERS

1
|

D 28 STIRRUPS AT 160 cRS
|

a0
! \‘\',/

|
|
|
|
I
GRAVEL BEfD
1
i
|

| ___~ POSITION OF CAISSON
b

|

=1

~ BED RocCk LEVEL

HESHaae=

NOTE : TEMPORARY CAISSON AND
PLATFORM NOT SHOWN
FOR CLARITY

il

I

)

EXISTING 200 uC 4G AT TOP
AND 2B0 UCc 73 AT BOTTOM
To BE REMOVED

EXISTING 203 %76 RSC
LOCATINS STRUT
To BE REMOVED

PLAN SECTION A-A

5 6

110 120 130 140

180
MILUMETRES 7

A/ 31\1'35 NDlSH!I\NUS 'IVHHLDBJJHSHV e

7

il

220 230 240 250

8

—

THIS AREA TO BE FILLED
IN WITH %0 MPa NON SHRINK CONC

10 - 200 B 25 EQUALLY SPACED
AROUND EXISTING 1930 ¢ PIER
COLUMNS To BE 9000 LONG

D28 STIRRUPS AT 150 CRS
l_____~ AROUND 1200UB 25 CoLUMNS

TEMPORARY CAISSON ‘N PLACE

EXISTING 200 UQ 43 AT ToP
To BE REMOVED

‘BISALLOY 360 STEEL PLATE CASINGS

EXISTING 203%76 RSC
LOCAT ING STRUT
TO BE REMOVED

EX1STING 200 UC 46 AT TOP
AND 25¢ Uc 73 AT BOTTOM
To BE REMOVED

NOTES

1. 1T \© THE CONTRACTORS RESPONSL-
BILITY TO CHECK ALL DIMENSIONS
ON oNE.

. FIGURED DIMENSIONS TO BE TAKEN
IN PREFECENCE TO SCALED
DIMENSIONS.

. ANY DISCREPANCIES OR AMBIGUITIES,
OR ANY INCONSISTENCIES BETWEEN
THIS , OTHER.. DRAWINIGS, AND THE
SPECIFICATION ARE TO BE
IMMEDIATELY REFERRED TO THE
ENGINEER.

REVISION

ASSOCIATES

Chartered Consultlng Civil
Structural Mechanical and
<@ Traffic Engineers

55-59 GALA STREET , INVERCARGILL
P.O. Box 93 Telephone 82-429

DESIGNED
DRAWN
TRACED
CHECKED

APPROVED

THIS DRAWING
©

SCALE 1:50 [1:2D IS COPYRIGHT

CLIENT

TUAPEKA
COUNTY COUNCIL

PROJECT

REPAIRS TO MILLERS FLAT
BRIDGE PIERS

STEEL WEAR CASING

SHEET TITLE

GENERAL
ARRANGEMENT

NO IN SET PROJECT NO SHEET NO REVISION




A
¥ B
1
|
§
|
B H
i
|
i

ol k
G b
s N
H
o
0}t
Nt
Rl = =
AEE
| -
{ ) =it
; o~
|1 -
! "
{5 b
| L:
1 Al
[ Ll
i 5

.................

11

e
AR

e "-V~.

10 120 130 140 150 160 -170 150 180 200
MILLIMETRES ™

g f
4. ¥ i 2 :
. : V. 31v3S NOISHIANOD IVHNLIILHIYY. : 3 - ; ."“m""
= < ! ; ; '

e L EXISTING PIER e Bme PLATE
SwwBUATES 0 e liE e e § : 18° - 5 me PLATE
) i //T ?\\ L 5 mm PLATE ) S wmm PLATE ‘//
% . / SRt /
/ 200 xG PLATE FIXED TO CASINGS o 15° co
| 17 WITH MG BOLTS AT 300 cRS 2 / "'
[ " / 'ﬂu
/|TOP SECTION : ‘ ,||l ||| Il 15° I‘”
o|g i/ 15
§ =il _® ”H "H el EXISTING o // ”
< = " I PIERS f M
T I5° |. 'i‘"'“ '“ |! el :!p |!!h|||||||(
U e , ‘\ /
= il < k: y | | 152 \‘ ‘ - H "“ “ r 15° “
\ "l%."_‘f P __IQ -t LT'L }—9— __;2':_ 2 2{.? ] T 12 mm PLATE /\*/// ; | " l I‘“}
\\ i _fiﬁ_ i T / /// : . D\\ “.“"I | ” 1) : 'Ilm ||||| ||I- | Go°
\ !D o "——”‘_,\_ ~ | 200xG PLATE FIXED TO CASINGS o e ; 2 N
g & 1 ’T"“ = WITH M20 BOLTS AT 300 CRS coj D /\
& o H e — 8 I5° \/ . |
: ke : —® e [ A
< e Y POSITION CENTRELINES OF ) '\‘\J, : ‘;‘3?‘0“5 OFLochTiNG Luss
\LMIDDLE SECTW 5wmm PLATE " aas° |, 22:5° HOLES FOR MIG BOLTS 30° : 30° M e AT Lo CAT N
3 FOR HORIZONTAL JOINTS
A b e L AT RADIALS SHOWN
FOR VERTICAL JOINT
T i D 20 BARS WELDED To INSIDE SECTION A-A SECTION D-D
A el e IR (SHOWING TYPICAL SPACING OF (SHOWING TYPICAL SPACING
HORIZONTAL BOLT FIXINGS } OF LOCATING LUGS)
| i T~ 1% mw PLATE
0 PN ya
o~ hif ™ (o]
p it o s 0 e @ = ; )
a 5i0 = oln LoATE I18° .250
zu {! ———— \ T T o et 2w PLATE
m‘—|“u_j ,_?_é i b — 200 % G PLATE FIXED TO CASINGS ! /
0 s i B LR RS WITH M24 BOLTS AT 300 QRS /
8 j é l’ I ————————— 7 o 5wmm PLATE b
l T ] L(z)‘(@ 17\ l jl’ B A ———7 —_y \ //_/ Ty
J ] il | __ LOCGATING LUGS FOR ALIGNMENT i/ A \ / A ] 5 mm PLATE
e S ) ! | T OF PLATES FOR VYERT ICAL JOINTS |e'/ m ”“\ D28 BARS AT IS0 CRS ! l \ s
> / ' (BY OTHERS) - \ /
~[BOTTOM SECTION] ~ l \« /
/ iﬂ' /
{ Lov [ ELEVATION UPSTREAM PIER e l" ‘l' Ll "
\ \ \ ‘ il ’
12 | AN l | /
; . \ EXISTING PIERS /
5mm PLATES ; 2L AT W’ i /
e i c o ~|Il . 2 .\'fl'“l“” /
e adh PSS // l | 11 \\ shied) 200 UB 25 PILE Fi;;//:,// ’\\~ . \\\ /
T 7 | S ; \ / N
| : ?L L o WELDED TO N / ‘.
; —_———— e ————— 0 ko EXISTING FiER 18°
\ $fot- A 500 D20 BARS AT GOO CRS (16
N I ; \—— 1~ [fOP SECTION WELPED TO INS IDE oF \3/
-> 1ils o PLATES AT POINTS SHOWN
o ‘ P o
. - . |
o \.,% i o
i SECTION B-B SECTION E-E
TH T (SHOWING TYPICAL
' | < K I o REINFORCEMENT PLACING )
yfEn Bl tl\zg“»-l E=m e g ey ~ |
\ 01015 ' : 9
‘__j_ _______ Bl ‘/ =l s o PUATE
\ T -
[4)]
N ¢ 8% _[MioDLE_sEcTion]
4 & 2 gl < gF o
N S el ey e v e £, ola ‘@
I E
f E _ SEQTION OF PIER
‘ o 12 mm PLATE < SCOULRED AWAY S PLANTE 12 me . PLATE:
\‘v‘ \)\
] EXISTING PIER - i \ ”l mm ml " SECTION OF PIER
EXISTING PIER Ml“ m “HI "Illh. SCOURED AWAY
e M IIIM
1 < i { ) I'” il
s ey i 4 6 'll}m f ’ i
i e e e U I e e e ™ )
~ | GRAVEL 1 "‘%*' T
BED | < . — G
Y e | 1= [BOTTOM SECTION] ]|ml
E( i3 J« 1
__________ e o G mm PLATE
dlbl. ~
T e
Smm PLATE ‘ ; ’ s LOCATING LUGS FOR ALIGNMENT
OF PLATES FOR VERTICAL JOINTS
ELEVATION DOWNSTREAM PIER SECTION C-C SEGHION: Bk
] 9 S e 4 i i e LN - z
||||||||n'||||||n|lnn|||n|n|||u|||u|||nu||m|n|||nn|||||l|||||||||||u||||u|n|||n|||l||||||||||||l|||n||T|'|||‘|“n’|||u|u|||n llln||||n||u||u|||1||||u|||||u|||n||u|1un|nu|nu|uu|nu|un|nn|u|||nn|nu|u|||m|pn||m|||||||nn|uu|m||u|||||||||u||

NOTES

1. 1T \© THE CONTRACTORS RESPONSL-
BILITY TO CHECK ALL DIMENSIOND®
ON oNE.

2. FIGURED DWMENSIONS TO BE TAXKEN
IN PREFECENCE TO SCALED
DIMENSIONS.

3. ANY DISCREPANCIES OR AMBIGUITIES,
OR ANY INCONSISTENCIES BETWEEN
THIS , OTHER DRAWINIGS, AND THE
SPECIFICATION] ARE TO BE
IMMEDIATELY REFERRED TO THE
ENGINEER..

4. CASING To BE BISALLOY OR CORTEN
ABRASION RESISTANT STEEL
(0-2%, PROOF STRESS |200 MRx BHN 380)

5. ALL BOLTS NUTS AND WASHERS
To BE GRADE 8-8

G. ALL WELDING To BE WITH DRY
LOW HYDROGEN ELECTRODES
WELDS(ON 12 AND 1G wwm PLATES
To BE PREHEATED Ta loco°c)

7. EACH CASING IS TO BE PREFABRICATED
COMPLETELY IN THE WORKSHOP
BEFORE DISPATCH

REVISION

ASSOCIATES

Structural Mechanical and
@ Tratfic Engineers

55-59 GALA STREET, INVERCARGILL
P.O. Box 93 Telephone 82-429
DESIGNED D.R. DATE

DRAWN G.S. DATE

TRACED G.S. DATE

CHECKED DATE

APPROVED DATE

SCALE 1125 © 15'eorvRoHT
TUAPEKA

COUNTY COUNCIL

REPAIRS TO MILLERS FLAT
BRIDGE PIERS

STEEL WEAR CASING

SHEET TITLE

ELEVATIONS AND
SECTIGNS

s bosf 2 [




B2 B

-

10

CMS

WASHER

MIG BOLTS —

5 mw PLATE

MIDBLE SECTIoN ~

5 mm PLATE
TOP SECTIoN

U

5

NUT To BE WEL DED

TO INNER PLATE

DETAIL €5

DETALS €5 €5 sMLAR

16 wm PLATE

BOTTOM SECTION “~—F

—t—y

DETALL

Swm PLATE M20 BoOLTS

12 mm PLATE
MIDDLE SECTION

" M20 BoLTs

12 mm PLATE *

(

T

Dl M 20 BOLTS AT

5 mm PLATE

ToP SECTION INNER PLATES

\ |
\

NUTS WELDED To

5 mm PLATE
ToP SECTION

|
|

NUTS WELDED

12 mm PLATE DOWNSTREAM
MIDDLE SECTION

To INNER PLATE /\

/— 5 mm PLATE
i/ TOP SECTION

by

j f’ WASHER

L_|
q . MG BoLTS

|

:j(\/

| AN v ¢ > \2 mm PLATE
\ WASHERS MI\DDLE SECTION
Smm PLATE \
MIDDLE SECTIoN o
) 200 xG PLATE DOWN A i
Twme PLATE SPACER B R S JOIN T
(FULL LENGTH OF SECTION)
Swm PLATES
TOoP SECTION
\
\
5 S M pLATE
S MIDDLE SEQTION
M 20 BOLTS -
#J B R b
k:i |
5mwm PLATE
5 mm PLATE .,‘ MIDDLE SECTION 5 mm PLATE
MIDDLE SECTION ,' BOTTOM SECTION
> 0 BoLTS
200*G PLATE DOWN i
VERTICAL JOINT
|2 mw PLATE M24 BOLTS IG mm PLATE DOWNSTREAM
BOTTOM SEQTION
‘\ Smn PLATE M24 BOLTS 12 mm PLATE
|
: | 100 _ 1 ( \ 100 4
/e \
\ N
| & = \ g
/‘ j \ ‘ \
— L
— )

T ram PLATE
SPACER
(FULL LENGTH
OF SECTION )

300 CRS DOWN
EACH SIDE OF

N

200 x12 PLATE DOwN

M 24 BOLTS AT 300 CRS

200 * G PLATE DOWN

VERTI(CAL JOINT

DETALL &

VERTICAL JOINT

VERTI|CAL JOINT

POWN EACH SIDE OF BOTToM

VERTICAL JOINT

DETAL €5

1:1

|III!||l||||H||!III|l|l|’|IIIlIIII|II|II|III|IIIIlIIII'IIII|II|I|I||IIIIII|III
ok il 20 b titan s ieo bl

200 X G PLATE DowN

VERTICAL JOINT

M20 BoLTS M

WASHER

L

I

Swm PLATE
MIDDLE SECTION

NUTS WELDED To
INNER PLATE

12 mm PLATE
BOTTOM SECTION

DETAL €5

DETAIL @ SIMILAR

5wm PLATE
BOTTOM SECTION

\

12mm PLATE
BROTTOM SECTION

5 wan PLATE
MIDDLE SECTION

200 % @ PLATE DOWN

VERTICAL JOINT

DETAL (35

STEEL SPACER PLATE
To suIT

ISO%x 84 x10 PRONGED \_J
PLATE WELPED To
PLATE

70

12Zwe PLATE
BOTTOM SECT lON

Smm PLATE
M\DDLE SECTION

(FULL. LENG TH OF SECTIN

7 mm PLATE SPACER /
)

5 mm PLATE
MIDDLE SECTION

2/
M 24 BOLTS

5nm PLATE

NOTS

NOTES

WELDED TO 1.

INNER PLATE

\G mm PLATE DOWNSTREAM

BOTTOM SECTION -
2.
4.

12Zmm PLATE

MIDDLE SECTION

200 %12 PLATE DOWN
VERT ICAL JOINT

DETAL (5

MG BOLTS

IT \S THE CONTRACTORS RESPONSL-
BILITY TO CHECK ALL DIWMENSIOND
ON oTE.

FIGURED DIWMENSIONS TO BE TAKEN
IN PREFEPENCE TO SCALED
DIMENSIONS.

ANY DISCREPANCIES OR AMBIGUITIES,
OR ANY INCONSISTENCIES BETWEEN
THIS , OTHER DRAWINGS, AND THE
SPECQIFICATION] ARE TO BE
\MMEDIATELY BEFERRED TO THE
ENGINEER..

ALL QUTSIDE PLATE BOLT HOLES
TO BE 5Ewm @ OVERSIZE

5 mm PLATE

NO

DATE

REVISION

MIG BOLTS AT 300 CRS
DOWN EACH SIDE
OF VERTICAL JOINT

200xG PLATE
DOWN VERTICAL
JOINT

peTAl €5 |
DETAILSEE) €55 SIMILAR

BUOT M 20 BOLTS AT JOINT ‘

M 24 BOLTS
20 4AQ |
TT ] OUTSIDE
PLATE oF
—— MIDDLE SECTION
t - e
] OUTSIDE
/AN
- AO%A40 BAR
INSIDE 30 LONG WELDED
TO PLATE
80

—_—-

M24 BOLTS AT 300 CRS
DOWN EACH SIDE OF

VERT) QAL JOINT

DETAIL

c

|||m|'u'|i'|||'i'|]i'|'|'
1

80 80

|l|l|l|||||||l|||
00 - 10
it

1
i

DETAIL (35 (VERTICAL JOINTS )

0 130, 140 150 180
T T MILLIMETRES T s

|||||tﬂ‘|‘|"||'|’i|‘im|u||Im|‘|nn"iu||nn|nn||
121

| ¥ T1v3S NOISHIANOI IVHNLIALHILY |

- 170 180 180 200

—_-

T e iy

et e

_lzot 40 2 211_

I|II|IIlIlII|I|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIIIIIIII|IIIIIIIII|IIII|
210 220 230 240 250 280 270 280 280 300

B il
oWVINERA |

Sk R B e

e S i

DETAIL € (HORIZONTAL JOINTS )

-
~
0 INSIDE
L]
\\
3 T 40x40
30 LONG WELDED
To PLATE AT
ToP AND BOTTOM
OF MIDDLE SECTION
440
Vo2 CUT OUT SLOT IN

PLATE TOo FIT
OVER LUG

s

(e G e
PRy

. Chartered Consulting Civil
Structural Mechanical and
<@ Tratfic Engineers

55-59 GALA STREET , INVERCARGILL
P.O.Box 93 Telepkone 82-429

=
~antll P
ny
5 |
r
G\
(
a1 g
-l fasb
IRy
TR
3.‘, u
"
-] TNEET

COUNTY COUNCIL

DESIGNED D.R. DATE
DRAWN G.S. DATE F
TRACED G.S. DATE |
CHECKED DATE !
|
APPROVED DATE ‘
i THIS DRAWING
SCALE 1:2:5 © 1S COPYRIGHT
CLIENT |
f
G

PROJECT

REPAIRS TO MILLERS FLAT
BRIDGE PIERS

STEEL WEAR CASING

SHEET TITLE

JOINT DETAILS

T SRS - é
|

A3 |
e Bl |
A

PROJECT NO

8016

il sHEET NO REVISION |

"~

%

A et S SR

4 o
-

o S Uit L A

o
e

R, IO

S PG

Y
7.

~

ety

> ,--—,g\M';,:l .

e P i 7 YOLPL e




	8016-001
	8016-002
	8016-003
	8016-004

